Bellwork  Alg  Friday, January 31, 2020

1. Simplify. Make sure answer has a rationalized denomlnator Simplify your answer. Assume all
variables are positive quantities. 5

4 16y?
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2. Simplify. Use absolute value symbols where necessary.

a) {162a°p% b) {96c74%

3. Simplify. Give your answer in simplified radical form. Make sure there are no decimals in your
answers. Assume all variables are positive quantities.

9p 10Q—2 '3‘
£

4. Simplify each. Assume all variables are positive quantities.

a) (6-243)(5+843) b) J/55g"h° - [15g°K°
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1. Simplify. Make sure answer has a rationalized denominator. Simplify your answer. Assume all
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2. Simplify. Use absolute value symbols where necessary.
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3. Simplify. Give your answer in simplified radical form. Make sure there are no decimals in your
answers. Assume all variables are positive quantities.
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4. Simplify each. Assume all variables are positive quantities.
a) (6-243)(5+8/3) b) [/55g"%h> - [15g%h°
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